PR

= 227|[F9(2/2)). [28(2/2)). [58H2/2)]

= el EE(2/2)

= Ojstgol(2/3)

= Cl==27324%(3/4)) Java [Z=2T32W(3/4)).Python [Z 2 2%(3/4)].Scratch [Z2 2% (3/4)]

* AL 89t o] (3/3)-0lehArel 8 ztﬂo} A Lots

(Adat 272

e A A 2] (3/3) A TAFE](3/3) 1}8t 7] & o EFA[ 28H(3/3) ], [ Ttat
(3/3)1.133h(3/3)]
=79} 23K3/3) o17+utshA(3/3) Ql7to|er [ " sH(3/3)).[4AH3/3)].

[22h(3/3)]

A EAsH2 =21 (3/3) AZ&2(3/3) A= e AEE/3)
W7 sAH3/3) HeH(3/3)

eF=Ate] ofahi(3/3) AT w-%(3/3) Artet 29H3/3)
AAAR L ZAI9H3/3) A1 (3/3)

Foil1(3/3)] FolIL(3/3)] L2oill , E20i[1(3/3)], F=0i[1(3/3)].5 =1 [1I(3/3)],

223 40)(3/3). A59101(3/3). %6&—3(3/3)
woloh ATIARI(3/3), FAER vl §Fo| AS(3/3), MAER wle Mool AlS|(3/3). et
ARAAN(3/3), AchArsleh ATNBARG/3). AAIRAL/3), ABAERAG/3), AT BEAL
2),(3/3) BePr1ea Aatel sholme]=(3/3, Wisol i §(3/3)"

\ n

1AA71(3/3), HIAEARAQ7](3/3), w2 olsH(3/3), oft Are](3/3), SFREE=02H(3/3), 522 ols]
/2). Ble9 olsl(2/2). YRt AFL(2/2)

Si‘

Rloatele] olsl(3/3), ARl olsH(3/3), AALS] olsH(3/3). FRotAloba3/3), shauldel olah(3/3),
AuBato] ols(3/3), vlTBL] olsh(3/3), FHBE olah(3/3), W WEE/3). KA ol
3/3). BNFRIAKE/3), olcfoler AThARe)(3/3), o1 d3H3/3)

—

ATARE7RE(3/3), ABEEY] 2el3/3), AFEQ] »5H(3/3), 30HH3/3)

=AY olah(3/3), MAZAY olsh(3/3), AEH M=(2/2), LV H&=8(3/3), FIFL A
(2/2), 719799 ©lal(3/3). §2LABG/3)*, ALY olal(2/2)**, 713 HEEG/3 2uiyn 292

(3/3). BIHELARUIAUAR/IM, vleh7leut ARG/ 5712 4 Y(3/3)-0RkIigEe} Hgis
ARYAD(3/4), dlolEl2 BASHE AIM(3/4) 71E DBt Q) m2 Y(3/4). Rokd < AR(G/4), 2
3} QIE3/4), ITGRINE(/4)

~ERSE AR H2/2)], [EUA2/2)], (ZE2/2)], [REAR@/2)], (A E3 Agne(2/2)]
AT 717 (3/3), AmEL} BIWA AFL(3/3)

s R Aam =t AA[E-(2/2)).[50H2/2)).[271,(2/2)) [543 271(2/2)] - vkl g2che! FHeants
HOpR| A E] 2 012] C4)(3/3)-ul it g ek st Mg w e

]

7120 2eH3/3), AR 1(3/3)], v2ARSH 1(3/3)), 2gul2AwsH 1(3/3)].2502A=st
3)

ofd
i)
P

(1(3/3)], ul&87A(3/3), AJth42H(3/3), ME )4 (3/3), 71 =5ASH3/3)
712&828K(3/3), 2t ® AA[1(3/4)], &8st R AA[1(3/4)], 2a&2sr & AF[1(3/4)], 2152
a]al— al Al I (3/4 ]




izl A%

Practical Reading(1/2)
Practical Listening(1/2)

Cthstgdol)

st gz v A A (I 22A11) (1/2)
7197H8 A 3 2ol A 22 A12)(1/2)

(R=ZAAA, 2)

53t (=AHAGY

=X9E 2(3/3) XY AEEdan} L312EIX(3/3)

S 2BRAK(3/3)

re
oX,
oo

0,

S ot&21(3/3)

A5 o=

REAGUAH2/2), ). BUARIZH2/2), BEA]

2)
(2/2), DHRIAESORIGAG/3), =317H(2/2), 3
2R AR 217H(2/2) (xolF A2, 2719 2473H2/2)
(:AE AP, A SN (2/2), =tk gt
(3/3) Fetzuf ez =Aatelel(3/3)

F==3M(3/3), =3l ah(3/3), Fo1a2x(3/3)71, GO
oJot1(2/2), Goleletl(2/2), S=01l(2/2), E=01IV(Z2/2)

=2 dB((3/3) Uit dEGE/3)

relel] 99 % =1

LAl ool (3/3), AtiAteldiFEehEs= 1l Al
AB/3) . AAE=7198(3/3) S=dddolet 2eK3/3)

CEREE

ofolefo] AA 3 H5(3/3), A olsh(3/3). &
A=u5(3/3), BALSIFY(3/3), Uw 5:H3/3)

CRT AT EE
EEDINCE

s},
A

Z]

Borfr

WstAK3/3). =5H(3/3). AtiAte]bEAI3/3)

EEEELIREE

F83} 3

goolal(2/2). 2=EARTF Y FH(3/3). 7leHd
0(3/3), 1%‘7}7?)&?# FAB/3), A5 HA=H3/3)

A3 o}
AR7| &

ARELS(3/4),  ALULE(3/4).  HEENTAE
(3/4), CZ2I2)%(3/4), BaEAZ0tm 2 12)%(3/4)
ARSI RE L2 I Y(3/4)

ol
)

)
=

ofN

ol
)

ofy

of

ol



